ZADATAK ZA UTORAK.
1. PREPIŠI ZADATAK I RIJEŠI GA U BILJEŽNICI IZ MATEMATIKE.

71 – 5 =             35 – 7 =            84 – 8 =              28 – 9 =              52 – 3 =            65 – 6 =

20 + 36 =           80 + 13 =          50 + 41=             60 + 25 =            30 + 67 =          40 + 39 =

98 – 50 =           43 – 20 =          76 – 40 =            51 – 40 =            88 – 40 =          99 – 70 =

[bookmark: _GoBack]23 + 35 =           46 + 22 =          72 + 26 =            37 + 51 =            82 + 12 =          66 + 33 =

56 – 24 =           78 – 52 =          45 – 31 =            97 – 65 =            68 – 44 =          57 – 35 =

45 + 37 =           29 + 56 =          62 + 29 =            58 + 33 =            34 + 38 =          77 + 14 =

72 – 27 =           93 – 55 =          64 – 36 =            56 – 29 =            85 – 69 =          41 – 28 =



